2| “moce|lly

assume(a:=[10.0,0,10])

parameter(a,0.0,10.0,10.0)

assume(x:=[2.1,0,a])

parameter(x,0.0,10.0,2.1)

assume(Y=[10.0,0,10])

O:=point(0,0)
A:=point(a,0)
B R:=point(0,Y)

M:=point(x,0)
- point(x)
E miroir:=droite(O,A)
droite(y:O)
B mur:=perpendiculaire(A,miroir)
droite(x:a)
incident:=couleur(droite(R,M),vert)
[droite(y=((-Y)/x*x+Y))

axe:=couleur(perpendiculaire(M,miroir ),ligne_point+bleu)

r:=symetrie(axe,R)

%
reflechi:=couleur(demi_droite(M,r),magenta)

o 0000000000000 |

m H:=inter_unique(mur,reflechi)

point((-Y*a+Y*x-(-i)*a*x)/((1)*x))

h:=x->longueur(A,H):;

factoriser(h(x))
Y*(a—x)/x

graphe(h(x),x=0..a,couleur=jaune) ‘

pIotparam(x+(i)*sqrt((a+(-(-a)*x)*(-x)/x’\2)"2+(-(-Y*a+Y*x)*(-x)
o 0000000000000 |
Hp:=inter_droite(mur,incident)

point((Y*a-Y*x+(i)*a*x)/((i)*x))

flechi .

mirQir .




Y:=5:;a:=18:;resoudre(h(x)=6,x)

( Done, Done,

H:=point(0,0)

point(0,0)

R:=point(0,5)

K:=point(18,0)

poiniig0)
J:=point(18,7)

poniig,7)
couleur(polygone_ouvert(R,H,K,J),rouge+epaisseur_ligne_

polygone(point(0,5),point(0,0),point(18,0),point(18,7))

Y assume(x:=[14.04,0,18])

parameter(x,0.0,18.0,14.04)
M:=point(x,0)

E trajet:=couleur(polygone_ouvert(R,M,J),bleu+line_width_3

polygone(point(0,5),point(x),point(18,7))
B h:=unapply(longueur(R,M)+longueur(M,J),x)

(x)->sqrt((-x)"2+25)+sqrt((x-18)"2+49)

graphe(h(x),x=0..18,couleur=vert) J

plotparam(x+(i)*(sqrt((-x)"2+25)+sqrt((x-18)"2+49)),x=
B i
m:=point(x,h(x))

point(x+(i)*(sqrt((-x)"2+25)+sqrt((x-18)"2+49)))
h(7.4);h(7.5);h(7.6)
21.63360103,21.63330765,21.63359949

X:=7.4+107(-6):;
Y:=h(7.4):;
tantque evalf(h(X))<Y faire
Y :=evalf(h(X));
X:=evalf(X+107(-6));
ftantque:;
X-107(-6)

( Done, Done, Done,




11

12

(- ' x ) +25
0
-45 15
2
0
1 O
point(0,0)
2 s
point(30,0)
£l A:=po
point(0,-18)
4
parameter(x,0.0,30.0,23.1)
5
point(x)
6 0 A B),b
polygone(point(0,-18),point(0,0),point(30,0))
7 0 A B 0
polygone(point(0,-18),point(x),point(30,0))
3 A 0 B
(x)->sqrt((-x)"2+324)/2.0+(-x+30)/2.5
9

plotparam(x+(i)*(sqrt((-x)"2+324)*0.5+(-x+30)*0.4),x=0.0..30.0375)
10

point(23.1,17.40248954)
11

X >(2(¢-"x))- (;) (— 1 ) V(Ex )P+25+2-(x -18) (1) (—1 )V

‘Y -18 2+49

R 130

................... —10
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________________ A
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R 20




graphe(t(x),x=0..30,couleur=vert)

r17.4

r17.4

r17.4

23.6 23.8 24 24.2 24.4
mini(xo,p):={
X:=x0+107(-p):; Y:=t(x0):;
tantque evalf(t(X))<Y faire
Y :=evalf(t(X));
X:=X+107(-p);
ftantque:;
X-107(-p)
b

m mini(23.8,6)

m tp:=fonction_derivee(t)

X ->(-2(-'x ))'(%)'(é)-\/(-'x‘ )2+324-o.5+-o.4

(- x )2+324

‘

\
tp(24)

ul
m resoudre(tp(t)=0,t)

&l






